5.3: Inverse Functions

In order for a function to have an inverse function, the function
must be monotonic (always increasing or always decreasing)
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Proving a function's inverse function
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Find the inverse function algebraically and graphically.
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Use the derivative to determine if the function is monotonic.

Justify.
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f(x) Is not monotonic because
f'(x) < O on ( -inf, 2) and
f'(x) > 0 on (2, inf)
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g(x) is monotonic because
g(x) is always increasing




_{: (2() = ()( - _})1 [3, (D) s this function

monotonic? Explain.
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f(x) Is monotonic because f(x) is
always increasing
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